RECEIVED

DEC 1.3 2001

KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

Form ACO-1 September 1999 Form Must Be Typed

KCC WICHITA

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

ORIGINAL

Operator: License #_ 6039	API No. 15 - 119-20881-00-01
Name: L. D. Drilling, Inc.	County: Meade
Address: R. R. 1, Box 183 B	C_W/2 SESec. 27_ Twp. 32_S. R. 29 East V West
City/State/Zip: Great Bend, KS 67530	1320 feet from S / N (circle one) Line of Section
Purchaser: Duke Energy Field Services	1980 feet from E/ W (circle one) Line of Section
Operator Contact Person: L. D. Davis	Footages Calculated from Nearest Outside Section Corner:
Phone: (620) 793-3051	(circle one) NE SE NW SW
Contractor: Name: Val Energy, Inc.	Lease Name: Pauline Well #: 1 OWWO
License: 5822	Field Name: Angell
Wellsite Geologist:	Producing Formation: Morrow
Designate Type of Completion:	Elevation: Ground: 2684 Kelly Bushing: 2689
New Well Re-Entry Workover	Total Depth: 5798 Plug Back Total Depth:
Oil SWD SIOWTemp. Abd.	Amount of Surface Pipe Set and Cemented at 1521 Feet
<u> </u>	Multiple Stage Cementing Collar Used?
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth setFeet
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from
Operator: Vess Oil Corporation	feet depth tosx cmt.
Well Name: #1-27 Phillips	Drilling Fluid Management Plan 1) WWO KGR . 8/07/0
Original Comp. Date: 1/17/01 Original Total Depth: 5801	Drilling Fluid Management Plan OWWO KJR . 8/07/0 (Data must be collected from the Reserve Pit) ANT
Deepening Re-perf Conv. to Enhr./SWD	Chloride contentppm Fluid volumebbls
Plug Back Plug Back Total Depth	Dewatering method used
Commingled Docket No	Location of fluid disposal if hauled offsite:
Dual Completion Docket No	·
Other (SWD or Enhr.?) Docket No	Operator Name:
8/16/01 8/18/01 8/23/01	Lease Name: License No.:
Spud Date or Date Reached TD Completion Date or	Quarter Sec TwpS. R
Recompletion Date Recompletion Date	County: Docket No.:
INSTRUCTIONS: An original and two copies of this form shall be filed with Kansas 67202, within 120 days of the spud date, recompletion, workove Information of side two of this form will be held confidential for a period of 1: 107 for confidentiality in excess of 12 months). One copy of all wireline logs TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged wells.	r or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. 2 months if requested in writing and submitted with the form (see rule 82-3-and geologist well report shall be attached with this form. ALL CEMENTING Submit CP-111 form with all temporarily abandoned wells.
All requirements of the statutes, rules and regulations promulgated to regula herein are complete and correct to the best of my knowledge.	te the oil and gas industry have been fully compiled with and the statements
Signature: L. D. avi	KCC Office Use ONLY
Title: President Date: 12-12-01	Letter of Confidentiality Attached
Subscribed and sworn to before me this 12th day of	If Denied, Yes Date:
487 2001	Wireline Log Received
TO WALL IN	Geologist Report Received
Notary Public: Notary	UIC Distribution
Date Commission Expires: NOTARY PUBLIC - State of Kans BESSIE M. DeWERFF STATE OF LINEAR My Appt. Exp. 5-20-05	

Side Two

ORIGINAL

Operator Name: L.	ט. ט niling, inc.			Leas	se Name: ₋	rauline		Well #:	70000	
Sec. 27 Twp. 3	32 _{S. R.} 29	East	✓ West	Cour	_{nty:} <u>Mea</u>	de				
INSTRUCTIONS: Si tested, time tool ope temperature, fluid red Electric Wireline Log	n and closed, flowing covery, and flow rate	g and shut s if gas to	-in pressures, surface test, a	whether along with	shut-in pre	essure reached	l static level, hydros	tatic pressur	es, bottom	n hole
Drill Stem Tests Take		☐ Ye	es 🗹 No		L	og Format	tion (Top), Depth an	d Datum	□s	ample
Samples Sent to Ge	ological Survey	□ Ye	es 🗹 No		Nam	е		Тор	D	atum
Cores Taken Electric Log Run (Submit Copy) List All E. Logs Run: Cement Bond Lo		ē ece	es							
Gamma Ray	K	CC W	CHITA							
		Reno		RECORE		ew Used	ction. etc.	·		
Purpose of String	Size Hole Drilled	Siz	e Casing (In O.D.)	w	/eight s. / Ft.	Setting Depth	Type of Cement	# Sacks Used		nd Percent Iditives
Surface	Diffied	8 5/8	(III O.D.)		5.71 (.	1521'	in hole			
Production	•	4 1/2		10.5 lb		5798'	Class H Prer	175		
								8	Cal./G	Gil-875 lb
			ADDITIONAL	CEMEN	TING / SQI	JEEZE RECOR	D			
Purpose: —— Perforate —— Protect Casing —— Plug Back TD —— Plug Off Zone	Depth Top Bottom	Туре	of Cement	#Sac	ks Used		Type and Pe	rcent Additives	5	
Shots Per Foot			RD - Bridge Plug Each Interval Pe		De .	Acid, Fr	acture, Shot, Cement Amount and Kind of Mat	Squeeze Reco	rd	Depth
6 spf	5674-5684	. oologo or				,				
			<u> </u>							
TUBING RECORD	Size 2 3/8	Set At 5644		Packe	r At	Liner Run	Yes No			
Date of First, Resumed 9/10/01	d Production, SWD or E	nhr.	Producing Met	hod	✓ Flowin	ıg 🗌 Pum	ping Gas Lift	Oth	er (Explain)	·
Estimated Production Per 24 Hours	Oil	Bbls.	Gas	Mcf 50	Wat Trac		Bbls. G	as-Oil Ratio		Gravity
Disposition of Gas	METHOD OF	COMPLETION				Production Int	erval			
Vented Sold	Used on Lease		Open Hole		erf.	Dually Comp.	Commingled			



Wire Transfer

Account Number:

ABA Routing Number:

Remit to: P.O. Box 951046, Dallas, TX 75395-1046

Invoice Date: August 18, 2001

DIRECT CORRESPONDENCE TO:

P.O. Box 1598

Liberal, KS 67905-1598

USA

Tel: (620)624-3879

Fax: (620)624-9745

L D DRILLING CO

ROUTE Î BOX 183-B

GREAT BEND KS 67530

TO:

RECEIVED

RECEIVED

DEC 1.3 2001

KCC WICHITA

Invoice Number: 91075606

Well Name: L D DRILLING PAULINE #1, MEADE

Ship to: PLAINS, KS 67869

MEADE

Job Date: August 18, 2001 N/A

Cust. PO No.:

Payment Terms: Net due in 20 days Quote No .:

20751618 1469458 Sales Order No.:

Manual Ticket No.:

Shipping Point: LIBERAL Hwy 54 W. Ship Mode of Transportation:

Ultimate Destination Country: US 303368 Customer Account No.:

Contract No.: Contract from:

		NCC W	O III	Α	Contract to:					
Material ·	Description	QTY	иом	Base Amount	Unit Amount	Gross Amount	Discount	Net Amou		
7523	PSL - CMT PRODUCTION CASING - JP035	1	JOB		:					
ı	"ZI-MILEAGE FROM NEAREST HES B	74	МІ		5.03	372.22	119.11-	2:		
	Number of Units	1	unit			,		•		
2	MILEAGE FOR CEMENTING CREW,ZI	74	мі		2.96	219.04	70.09-	. 14		
•	Number of Units	1	unit							
16091	ZI - PUMPING CHARGE 001-016	1	EA		3,325.00	3,325.00	1,064.00-	2,20		
	DEPTH FEET/METRES (FT/M)	5,800 FT								
132	PORT. DAS W/CEMWIN;ACQUIRE W/H 045-050	1	JOB		916.00	916.00	293.12-	62		
:	NUMBER OF DAYS	1	Days							
142	AXIAL FLOW MIXER, W/O ADC,/JOB, 046-070	1	EA		633.00	633.00	202.56-	41		
	NUMBER OF JOBS	1	Job							
* 74038	ZI PLUG CONTAINER RENTAL-IST D DAYS OR FRACTION (MINI)	1	EA Days	733.00	,	733.00	234.56-	49		
	DATS OR FRACTION (MINT)	1								
13383	SBM MUD FLUSH,ZI 018-315 / SBM MUD FLUSH,ZI	500	GAL		1.20	600.00	192.00-	4(





KCC WICHITA

Continuation

ORIGINAL

Invoic	ce Date: August 18, 2001		Invoice Number: 91075606						
Material	Description	QTY	UOM	Base Amount	Unit Amount	Gross Amount	Discount	Net Amount	
*100003140	PLUG - CMTG - TOP ALUM - 4-1/2 402.1502 / PLUG - CMTG - TOP ALUM - 4-1/2 / 9.5-15.1#	. 1	EA	,	. 121.00	121.00	38.72-	82	
*100004722	SHOE - GUIDE - 4-1/2 8RD 12A - 825.201 / SHOE - GUIDE - 4-1/2 8RD	1	EA		164.98	164.98	52.79-	112	
*100004698	V ASSY,INSR FLOAT,4 1/2,8RD,10 24A815.19101 / VALVE ASSY - INSERT FLOAT - 4-1/2 8RD / 10.5- 15.1#	1	ЕА		226.86	226.86	72.60-	154	
*100013930	FILUP ASSY,1.250 ID,4 1/2,5 IN 27815.19113 / FILLUP ASSY - 1.250 ID - 4-1/2 - / 5 IN. INSERT FLOAT VALVE	1	EA		60.75	60.75	19.44-	41	
*100004473	CENTRALIZER ASSY - API - 4-1/2 806.60004 / CENTRALIZER ASSY - API - 4-1/2 CSG X / 7-7/8 HOLE - HINGED - W/WELDED / IMPERIAL BOWS	4	EA		65.84	263.36	84.28-	179	
* 100005045	HALLIBURTON WELD-A KIT HALLIBURTON WELD-A KIT	1	EA	•	36.86	36.86	, 11.80-	25	
*16092	ADDITIONAL HOURS (PUMPING EQUI 001-018 / CSG PUMPING,ADD HR,ZI HOURS	. 1	EA hr		516.00	1,032.00	330.24-	701	
*3	ZI-DERRICK CHARGE 000-121	1.	EA		549.00	549.00	175.68-	37 3	
*100003687	Cement- Premium (Bulk) CEMENT - CLASS H - PREMIUM - BULK / CEMENT - CLASS H - PREMIUM - BULK	175	SK	!	21.60	3,780.00	1,209.60-	2,570	
*100064022	Chem- Calseal 60 (Bulk) 508-127516.00335 / CHEMICAL - CAL SEAL - BULK	8	SK		54.23	433.84	138.83-	29 5	
*100003700	Chem- Gilsonite (Bulk) 508-292 516.00337 / CHEMICAL - GILSONITE - BULK	875	LB		0.79	691.25	221.20-	47 0	



NDEC 1.3 2001 KCC WICHITA Continuation

ORIGINAL

Remit to: P.O. Box 951046, Dallas, TX 75395-1046

mvor	ce Date: August 18, 2001		Invoice Number: 91075606						
Material	Description	QTY	UOM	Base Amount	Unit Amount	Gross Amount	Discount	No Amo	
*100003646	CHEMICAL - HALAD-322 - 50 LB S 507-775516.00144 / CHEMICAL - HALAD-322 - 50 LB SACK	82	LB		10.32	846.24	270.80-		
*100003695	CHEM, SALT,CEM GR,BULK 509-968516.00315 / SALT - CEMENT GRADE - BULK	848	LB	·	0.25	212.00	67.84-		
*3965	HANDLE&DUMP SVC CHRG, CMT&ADDI 500-207 NUMBER OF EACH	216	CF		2.82	609.12	194.92-		
* 76400	ZI MILEAGE,CMT MTLS DEL/RET MI 500-306 / MILEAGE,CMTG MTLS DEL/RET PER/TON MI.MIN	1 591	MI		1.72	1,016.52	325.29-	(
	NUMBER OF TONS	1.00	ton						
	Total Sales Tax - State Sales Tax - County Sales Tax - City/Loc					16,842.04	5,389.47-	11,4	
	INVOICE TOTAL							11,9 US D	
				·					
							•		

Payment Terms:

If customer does not have an approved open account with Halliburton, all sums are payable in cash at the time of performance of services or delivery of equipment, products, or materials. If customer has an approved open account, Invoices are payable on the twentieth day after date of invoice. Customer agrees to pay interest on unpaid balance from the date payable until paid at the highest lawful contract rate applicable, but never to exceed 18% per annum. In the event Halliburton employs an attorney for collection of any amount, Customer agrees to pay attorney fees of 20% of the unpaid account, plus all collection and court costs.